DIVISION

Ejemplo:

Operacion
2x' 11X +18x* 3x -2 |2x*—5x+1
—2xt 45x° =X ¥ =3x+1

-6x° 17x*  3x -2
+6x° —15x" +3x -2
Ej. 2x° -2
—2x*  +5x -1
5x 3
Resultado C(x):x2—3x+l R(x):Sx—3
Solucién C(x):x2—3x+l R(x):Sx—3
Calcula:

Operacion

12x* =7x° +23x* =5x+11 [3x*—x+1

A.

Resultado

Solucion

2xt+3x° =387 +19x+1 [x? +5x—2
B.

Resultado

Solucion
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—x*+3x° +2x* =5x |-x*+3x
C.

Resultado

Solucion

x'—4x —=7x* +33x—14 |x —=Tx+5
D.

Resultado

Solucion

S5xt+9x° —15x* +17x-25 |5x*—x+7
E.

Resultado

Solucion
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